Punkte: Note: Name:
Kopfrechnen

9294 2 = 901.5 : 5 = 6124.3 . 7 =
2233.6 : 8 = 6824 : 10 = 2569.2 : 3 =
3612 : 10 = 3068.8 : 4 = 6408 : 9 =
1980.9 : 9 = 1739 : 2 = 5945 5 =
1886.4 : 2 = 6762 : 10 = 5082 : 10 =
2224.8 4 = 1119 : 2 = 4396.2 : 6 =
830.4 : 2 = 7913.6 : 8 = 2302 : 5 =
1332.9 : 9 = 3042.4 4 = 1720.8 3 =
4904.2 7 = 6277.5 : 9 = 3426.5 5 =
4880 5 = 1656.9 : 7 = 1277.6 : 4 =
2924.8 8 = 1924.8 2 = 1420 : 8 =
1569.2 4 = 2267 5 21045 5 =
995.2 2 = 4571 10 = 1197.6 : 4 =
11904 : 2 = 1080.4 : 2 = 3355.1 : 7 =
7308.8 : 8 = 2880 : 8 = 2933.6 : 8 =
5806.4 : 8 = 2756.6 : 7 = 2163.6 : 4 =
2428.8 6 = 3630.2 : 7 = 7478.1 9 =
1936.8 : 2 = 8605 : 10 = 1925.4 3 =
4766 : 10 = 3595 5 = 1602.8 : 2 =
3775.5 9 = 6940.5 7 = 640.8 2 =
4930.2 : 6 = 1713.6 : 3 = 6555.6 9 =
2668.4 4 = 2792 4 4603.8 6 =
1682.4 6 = 504 4 1398.8 2 =
22194 9 = 5221.8 : 9 = 5475.6 : 9 =
2619.6 : 3 = 3293.6 : 8 = 3411.2 : 4 =
5219 : 10 = 2606.7 : 3 = 1453 5 =
7607.7 9 = 2368.8 : 6 = 3967.2 : 9 =
826.2 : 2 = 2782.2 : 6 = 3580.5 : 5 =
1777.6 : 8 = 5721 : 6 = 655.2 : 3 =
3504 5 = 40914 9 = 1645.8 : 6 =
2 = 4779.2 8 = 4435.2 9 =
4 = 3534 10 = 3492 6 =
10 = 6085 10 = 3238.4 4 =
6 = 3080.8 8 = 2415.6 9 =
3 = 1534.2 6 5280 8 =
4 = 711.3 : 3 = 2446.8 : 3 =
2 = 4661.6 : 8 = 875 : 2 =
8 = 988.6 : 2 = 1856 10 =
4 = 3072.8 : 4 = 642 : 5 =
10 = 2257.2 4 = 1958.7 3 =
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Losung

Kopfrechnen

9294 : 2 = 464.7 901.5 : 5= 1803 6124.3 : 7 = 8749
2233.6 : 8 = 279.2 6824 10 = 682.4 2569.2 : 3 = 856.4
3612 10 = 361.2 3068.8 : 4 = 767.2 6408 : 9 = 712
1980.9 : 9 = 220.1 1739 2 = 869.5 5945 : 5= 1189
1886.4 : 2 = 943.2 6762 : 10 = 676.2 5082 : 10 = 508.2
2224.8 4 = 556.2 1119 2 = 5595 4396.2 : 6 = 732.7
830.4 : 2 = 415.2 7913.6 : 8 = 989.2 2302 : 5= 4604
1332.9 : 9 = 1481 3042.4 : 4 = 760.6 1720.8 : 3 = 573.6
4904.2 7 = 700.6 6277.5 : 9 = 6975 3426.5 : 5= 6853
4880 5 = 976 1656.9 : 7 = 236.7 1277.6 : 4 = 3194
2924.8 8 = 365.6 1924.8 2 = 9624 1420 : 8 = 1775
1569.2 : 4 = 3923 2267 5= 4534 2104.5 : 5= 4209
995.2 2 = 497.6 4571 10 = 4571 1197.6 : 4 = 2994
1190.4 : 2 = 595.2 1080.4 : 2 = 540.2 3355.1 : 7 = 479.3
7308.8 8 = 913.6 2880 : 8 = 360 2933.6 : 8 = 366.7
5806.4 : 8 = 725.8 2756.6 : 7 = 393.8 2163.6 : 4 = 540.9
2428.8 6 = 404.8 3630.2 : 7 = 518.6 7478.1 9 = 830.9
1936.8 : 2 = 968.4 8605 : 10 = 860.5 19254 : 3 = 6418
4766 : 10 = 476.6 3595 5 = 719 1602.8 : 2 = 8014
3775.5 : 9 = 4195 6940.5 : 7 = 9915 640.8 : 2 = 3204
4930.2 6 = 821.7 1713.6 : 3 = 5712 6555.6 : 9 = 7284
2668.4 : 4 = 667.1 2792 4 = 698 4603.8 : 6 = 767.3
1682.4 : 6 = 280.4 504 4 = 126 1398.8 : 2 = 6994
22194 : 9 = 246.6 5221.8 : 9 = 580.2 5475.6 : 9 = 608.4
2619.6 : 3 = 873.2 32936 : 8 = 411.7 3411.2 4 = 852.8
5219 : 10 = 521.9 2606.7 : 3 = 8689 1453 5= 290.6
7607.7 9 = 8453 2368.8 6 = 394.8 3967.2 : 9 = 440.8
826.2 : 2 = 4131 2782.2 6 = 463.7 3580.5 : 5= 17161
1777.6 8 = 222.2 5721 : 6 = 9535 655.2 : 3 = 2184
3504 5= 7008 4091.4 9 = 454.6 1645.8 : 6 = 2743
2 = 976.9 4779.2 8 = 5974 4435.2 9 = 4928
4 = 643.6 3534 10 = 353.4 3492 6 = 582
10 = 569.1 6085 : 10 = 608.5 3238.4 : 4 = 809.6
6 = 827 3080.8 : 8 = 385.1 2415.6 : 9 = 268.4
3 = 597.7 1534.2 : 6 = 255.7 5280 : 8 = 660
4 = 349 711.3 3 = 23741 2446.8 3 = 815.6
2 = 1481 4661.6 : 8 = 582.7 875 : 2 = 4375
8 = 789.8 988.6 : 2 = 4943 1856 : 10 = 185.6
4 = 186.6 3072.8 4 = 768.2 642 : 5= 1284
10 = 549.2 2257.2 4 = 564.3 1958.7 : 3 = 6529
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